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General Instructions : 

 1. Candidate must write his/her Roll Number on the first page of the Question Paper. 

 2. Please check the Question Paper to verify that the total pages and total number of questions 

contained in the Question Paper are the same as those printed on the top of the first page. Also 

check to see that the questions are in sequential order. 

 3. All the questions are to be answered within the allotted time.  

 4. Making any identification mark in the answer-book or writing roll number anywhere other than 

the specified places will lead to disqualification of the candidate. 

 5. Write your Question Paper Code No. 50/S/A, Set  A  on the answer-book. 

 6. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can 

answer in any one of the languages listed below : 

   English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, 

Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi. 

   You are required to indicate the language you have chosen to answer in the box provided in 

the answer-book. 

  (b) If you choose to write the answer in the language other than Hindi and English, the 

responsibility for any errors/mistakes in understanding the question will be yours only. 
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ÃÖÖ´ ÖÖ® µÖ †® Öã¤êü¿Ö :  

 1. ¯Ö¸üßõÖÖ£Öá ¯ÖÏ¿®Ö-¯Ö¡Ö Ûêú ¯ÖÆü»Öê ¯ÖéÂšü ¯Ö¸ü †¯Ö®ÖÖ †®ÖãÛÎú´ÖÖÓÛú †¾Ö¿µÖ ×»ÖÜÖë … 

 2. Ûéú¯ÖµÖÖ ¯ÖÏ¿®Ö-¯Ö¡Ö ÛúÖê •ÖÖÑ“Ö »Öë ×Ûú ¯ÖÏ¿®Ö-¯Ö¡Ö Ûêú Ûãú»Ö ¯ÖéÂšüÖë ŸÖ£ÖÖ ¯ÖÏ¿®ÖÖë Ûúß ˆŸÖ®Öß Æüß ÃÖÓÜµÖÖ Æîü ×•ÖŸÖ®Öß ¯ÖÏ£Ö´Ö ¯ÖéÂšü Ûêú ÃÖ²ÖÃÖê 

‰ú¯Ö¸ü ”û¯Öß Æîü … ‡ÃÖ ²ÖÖŸÖ Ûúß •ÖÖÑ“Ö ³Öß Ûú¸ü »Öë ×Ûú ¯ÖÏ¿®Ö ÛÎú×´ÖÛú ºþ¯Ö ´Öë Æïü … 

 3. ÃÖ³Öß ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü ×®Ö¬ÖÖÔ×¸üŸÖ †¾Ö×¬Ö Ûêú ³ÖßŸÖ¸ü Æüß ¤êü®Öê Æïü … 

 4. ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë ¯ÖÆü“ÖÖ®Ö-×“ÖÅ®Ö ²Ö®ÖÖ®Öê †£Ö¾ÖÖ ×®ÖÙ¤üÂ™ü Ã£ÖÖ®ÖÖë Ûêú †×ŸÖ×¸üŒŸÖ ÛúÆüà ³Öß †®ÖãÛÎú´ÖÖÓÛú ×»ÖÜÖ®Öê ¯Ö¸ü ¯Ö¸üßõÖÖ£Öá ÛúÖê 

†µÖÖêÝµÖ šüÆü ü̧ÖµÖÖ •ÖÖµÖêÝÖÖ …  

 5. †¯Ö®Öß ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ¯Ö¸ü ¯ÖÏ¿®Ö-¯Ö¡Ö Ûúß ÛúÖê›ü ÃÖÓÜµÖÖ 50/S/A, ÃÖê™ü  A  ×»ÖÜÖë … 

 6. (Ûú) ¯ÖÏ¿®Ö-¯Ö¡Ö Ûêú¾Ö»Ö ×Æü®¤üß/†ÓÝÖÏê•Öß ´Öë Æîü … ×±ú ü̧ ³Öß, µÖ×¤ü †Ö¯Ö “ÖÖÆëü ŸÖÖê ®Öß“Öê ¤üß ÝÖ‡Ô ×ÛúÃÖß ‹Ûú ³ÖÖÂÖÖ ´Öë ˆ¢Ö¸ü ¤êü ÃÖÛúŸÖê Æïü : 

   †ÓÝÖÏê•Öß, ×Æü®¤üß, ˆ¤æÔü, ¯ÖÓ•ÖÖ²Öß, ²ÖÓÝÖ»ÖÖ, ŸÖ×´Ö»Ö, ´Ö»ÖµÖÖ»Ö´Ö, Ûú®®Ö›Ìü, ŸÖê»ÖãÝÖæ, ´Ö¸üÖšüß, ˆ×›ÌüµÖÖ, ÝÖã•Ö¸üÖŸÖß, ÛúÖëÛúÞÖß, ´Ö×ÞÖ¯Öã̧ üß, 

†ÃÖ×´ÖµÖÖ, ®Öê¯ÖÖ»Öß, Ûú¿´Öß¸üß, ÃÖÓÃÛéúŸÖ †Öî̧ ü ×ÃÖ®¬Öß … 

   Ûéú¯ÖµÖÖ ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë ×¤ü‹ ÝÖ‹ ²ÖÖòŒÃÖ ´Öë ×»ÖÜÖë ×Ûú †Ö¯Ö ×ÛúÃÖ ³ÖÖÂÖÖ ´Öë ˆ¢Ö¸ü ×»ÖÜÖ ¸üÆêü Æïü … 

  (ÜÖ) µÖ×¤ü †Ö¯Ö ×Æü®¤üß ‹¾ÖÓ †ÓÝÖÏê•Öß Ûêú †×ŸÖ×¸üŒŸÖ ×ÛúÃÖß †®µÖ ³ÖÖÂÖÖ ´Öë ˆ¢Ö¸ü ×»ÖÜÖŸÖê Æïü ŸÖÖê ¯ÖÏ¿®Ö ÛúÖê ÃÖ´Ö—Ö®Öê ´Öë ÆüÖê®Öê ¾ÖÖ»Öß 

¡Öã×™üµÖÖë/ÝÖ»Ö×ŸÖµÖÖë Ûúß ×•Ö´´Öê¤üÖ¸üß Ûêú¾Ö»Ö †Ö¯ÖÛúß ÆüÖêÝÖß … 
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DATA ENTRY OPERATIONS 

(›ü Ö™ü Ö ‹®™ Ò ü ß † Öò ¯Ö ȩ̂ ü ¿ Ö®ÃÖ) 

(229) 
 
Time : 2 Hours ] [ Maximum Marks : 40 

ÃÖ´ÖµÖ  : 2 ‘ÖÞ™êü ] [ ¯ÖæÞÖÖÕÛú : 40 

 

Note : (i) Attempt all questions. 

  (ii) Marks are given against each question.  

 

×® Ö¤ì ü ¿Ö : (i) Ã Ö³Öß ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü ¤üß×•Ö‹ …  

  (ii) ¯ÖÏŸµÖêÛú ¯ÖÏ¿®Ö Ûêú †ÓÛú ˆÃÖÛêú ÃÖÖ´Ö®Öê ×¤üµÖê ÝÖµÖê Æïü …  

 
 

1. Match the following and write your answer in the answer book :  
1

2
 ×××× 6 = 3  

A   B 

(a) Plotter (i) Effects 

(b) Compiler (ii) File Menu 

(c) Transition (iii) File details 

(d) Adding Picture (iv) Language Translator 

(e) Name, Type, Size (v) Insert Tab 

(f) Creating New Folder (vi) Output device 

 ×®Ö´®Ö •ÖÖê›Ìêü ×´Ö»ÖÖ‡‹ †Öî̧ ü †¯Ö®ÖÖ ˆ¢Ö¸ü ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë ×»Ö×ÜÖ‹ : 

A   B 

(a) ¯»ÖÖò™ü¸ü (i) ‡±êúŒ™ËüÃÖ (¯ÖÏ³ÖÖ¾Ö) 

(b) Ûú´¯ÖÖ‡»Ö¸ü (ii) ±úÖ‡»Ö ´Öê®µÖæ 

(c) ™ÒüÖÓ•Öß¿Ö®Ö (iii) ±úÖ‡»Ö ×›ü™êü»ÃÖ 

(d) ×¯ÖŒ“Ö¸ü ‹ê›ü Ûú¸ü®ÖÖ (iv) »ÖïÝ¾Öê•Ö ™ÒüÖÓÃÖ»Öê™ü¸ü 

(e) ®ÖÖ´Ö, ™üÖ‡¯Ö, ÃÖÖ‡•ÖÌ (v) ‡®ÃÖ™Ôü ™îü²Ö 

(f) ®ÖµÖÖ ±úÖê»›ü¸ü ²Ö®ÖÖ®ÖÖ (vi) †Öˆ™ü¯Öã™ü ×›ü¾ÖÖ‡ÃÖ 
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2.  Write in your answer book True/False for the following statements : 
1

2
 ×××× 6 = 3 

 (a) Laser printers are slow and produce poor quality print. 

 (b) A file cannot be retrieved from Recycle Bin. 

 (c) Start → All Programs → Accessories → Windows Explorer 

  Above sequence of commands is to be followed if you want to open Windows 

Explorer window. 

 (d) Tools menu helps to see file details. 

 (e) Spell check feature can be used in PowerPoint presentation. 

 (f) Excel’s filtering and sorting techniques are used to arrange worksheet data more 

quickly and find desired result. 

 ×®Ö´®Ö Ûú£Ö®ÖÖë Ûêú ×»Ö‹ †¯Ö®Öß ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ´Öë ÃÖÆüß/ÝÖ»ÖŸÖ ×»Ö×ÜÖ‹ : 

 (a) »Öê•ÖÌ¸ü Ø¯ÖÏ™üÃÖÔ ¬Öß´Öê Æïü †Öî¸ü µÖê ÜÖ¸üÖ²Ö Œ¾ÖÖò×»Ö™üß ÛúÖ Ø¯ÖÏ™ü †Öˆ™ü ¤êüŸÖê Æïü … 

 (b) ‹Ûú ±úÖ‡»Ö ÛúÖê ¸üßÃÖÖµÖÛú»Ö ×²Ö®Ö ÃÖê ¾ÖÖ¯ÖÃÖ ®ÖÆüà ¯ÖÏÖ¯ŸÖ ×ÛúµÖÖ •ÖÖ ÃÖÛúŸÖÖ Æîü … 

 (c) Ã™üÖ™Ôü → †Öò»Ö ¯ÖÏÖêÝÖÏÖ´ÃÖ → ‹ŒÃÖêÃÖ¸üß•ÖÌ → Ø¾Ö›üÖê•ÖÌ ‹ŒÃÖ¯»ÖÖȩ̂ ü¸ü 

  ˆ¯Ö¸üÖêŒŸÖ Ûú´ÖÖÓ›ËüÃÖ Ûúß ÀÖÓéÜÖ»ÖÖ ÛúÖ ¯ÖÖ»Ö®Ö Ûú¸ü®ÖÖ †×®Ö¾ÖÖµÖÔ Æîü µÖ×¤ü †Ö¯Ö Ø¾Ö›üÖê•Ö ‹ŒÃÖ¯»ÖÖê¸ü¸ü Ø¾Ö›üÖê ÛúÖê 

ÜÖÖê»Ö®ÖÖ “ÖÖÆüŸÖê Æïü … 

 (d) ™æü»ÃÖ ´Öê®µÖæ ´Öë †Ö¯Ö ±úÖ‡»Ö Ûúß ×›ü™êü»ÃÖ ¤êüÜÖ ÃÖÛúŸÖê Æïü … 

 (e) Ã¯Öê»Ö “ÖîÛú ±Ìúß“Ö¸ü ÛúÖ ¯ÖÏµÖÖêÝÖ ¯ÖÖò¾Ö¸ü¯ÖÖò‡Ó™ü ¯ÖÏê•Öê®™êü¿Ö®Ö ´Öë ×ÛúµÖÖ •ÖÖ ÃÖÛúŸÖÖ Æîü … 

 (f) ‹ŒÃÖê»Ö Ûúß ×±ú»™üØ¸üÝÖ †Öî̧ ü ÃÖÖòÚ™üÝÖ ŸÖÛú®ÖßÛúÖë ÛúÖ ¯ÖÏµÖÖêÝÖ ¾ÖÛÔú¿Öß™ü ›üÖ™üÖ ÛúÖê †×¬ÖÛú ŸÖê•Öß ÃÖê ¾µÖ¾Ö×Ã£ÖŸÖ 

Ûú¸ü®Öê †Öî̧ ü ¾ÖÖÓ×”ûŸÖ ¯Ö×¸üÞÖÖ´Ö ¯ÖÏÖ¯ŸÖ Ûú¸ü®Öê Ûêú ×»Ö‹ ×ÛúµÖÖ •ÖÖŸÖÖ Æîü … 

 

3.  Define the following : 1 ×××× 4 = 4 

 (a) Object Program 

 (b) Chart 

 (c) File Management 

 (d) Slide layout 

 ×®Ö´®Ö ÛúÖê ¯Ö×¸ü³ÖÖ×ÂÖŸÖ Ûúß×•Ö‹ : 

 (a) †Öò²•ÖêŒ™ü ¯ÖÏÖêÝÖÏÖ´Ö 

 (b) “ÖÖ™Ôü 

 (c) ±úÖ‡»Ö ´Öî®Öê•Ö´Öë™ü 

 (d) Ã»ÖÖ‡›ü »Öê†Öˆ™ü 
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4. Write short notes on the following : 2 ×××× 4 = 8 

 (a) Line Printer 

 (b) Mouse Pointer 

 (c) Selecting Text 

 (d) Format Painter 

 ×®Ö´®Ö ¯Ö¸ü ÃÖÓ×õÖ¯ŸÖ ×™ü¯¯ÖÞÖß (®ÖÖê™ËüÃÖ) ×»Ö×ÜÖ‹ : 

 (a) »ÖÖ‡®Ö Ø¯ÖÏ™ü¸ü 

 (b) ´ÖÖˆÃÖ ¯ÖÖò‡Ó™ü¸ü 

 (c) ™êüŒÃ™ü ×ÃÖ»ÖêŒ™ü Ûú¸ü®ÖÖ 

 (d) ±úÖò´Öì™ü ¯Öë™ü¸ü 

 

5. Differentiate between the following : 2 ×××× 2 = 4 

 (a) Inserting Text and Deleting Text 

 (b) Numbered List and Bulleted List 

 ×®Ö´®Ö Ûêú ²Öß“Ö †ÓŸÖ¸ü Ã¯ÖÂ™ü Ûúß×•Ö‹ : 

 (a) ™êüŒÃ™ü ‡®ÃÖ™Ôü Ûú¸ü®ÖÖ †Öî¸ü ™êüŒÃ™ü ×›ü»Öß™ü Ûú¸ü®ÖÖ 

 (b) ®ÖÓ²Ö›Ôü ×»ÖÃ™ü †Öî¸ü ²Öã»Öê™êü›ü ×»ÖÃ™ü 

 

6. Answer the following questions : 2 ×××× 5 = 10 

 (a) Write the steps to delete a file or a folder. 

 (b) Write the steps to move the selected text. 

 (c) How is a merge document created ? 

 (d) What is the importance of formulas in any spread-sheet program ? 

 (e) Write the steps to create a Bulleted list. 

 ×®Ö´®Ö ¯ÖÏ¿®ÖÖë Ûêú ˆ¢Ö¸ü ¤üß×•Ö‹ : 

 (a) ‹Ûú ±úÖ‡»Ö µÖÖ ±úÖê»›ü¸ü ÛúÖê ×›ü»Öß™ü Ûú¸ü®Öê Ûêú Ã™êü¯ÃÖ ×»Ö×ÜÖ‹ … 

 (b) ×ÃÖ»ÖêŒ™ü ×Ûú‹ ÝÖ‹ ™êüŒÃ™ü ÛúÖê ´Öæ¾Ö Ûú¸ü®Öê Ûêú Ã™êü¯ÃÖ ×»Ö×ÜÖ‹ … 

 (c) ‹Ûú ´Ö•ÖÔ ›üÖòŒµÖæ´Öë™ü ÛúÖê ×ÛúÃÖ ŸÖ¸üÆü ²Ö®ÖÖµÖÖ •ÖÖ ÃÖÛúŸÖÖ Æîü ? 

 (d) ×ÛúÃÖß ³Öß Ã¯ÖÏê›-¿Öß™ü ¯ÖÏÖêÝÖÏÖ´Ö ´Öë ±úÖò´ÖæÔ»ÖÖë ÛúÖ ŒµÖÖ ´ÖÆü¢¾Ö Æîü ? 

 (e) ‹Ûú ²Öã»Öê™êü›ü ×»ÖÃ™ü ²Ö®ÖÖ®Öê Ûêú Ã™êü¯ÃÖ ×»Ö×ÜÖ‹ … 
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7. (a) Write the key combinations which you will press to do the following actions in 

a word document. 2 ×××× 2 = 4 

  (i) To make the text Bold 

  (ii) To make the text all caps. 

  (iii) To replace a word 

  (iv) To create a New file 

 (b) “Screen saver is a program that starts a animation after a period of inactivity.” 

  In the above sentence two words are missing which are to be inserted before the 

underlined words. Write the steps to insert these words which are given below : 

  (i) utility before program 

  (ii) predefined before animation  

 (a) ‹Ûú ¾Ö›Ôü ›üÖòŒµÖæ´Öë™ü ´Öë ×®Ö´®Ö ÛúÖµÖÖí ÛúÖê Ûú¸ü®Öê Ûêú ×»Ö‹ ×Ûú®Ö ÛãÓú•Öß ÃÖÓµÖÖê•Ö®ÖÖë (key combinations) ÛúÖ 

¯ÖÏµÖÖêÝÖ Ûú ȩ̈üÝÖê ? 

  (i) ™êüŒÃ™ü ÛúÖê ²ÖÖê»›ü Ûú¸ü®ÖÖ … 

  (ii) ¯Öæ ȩ̂ü ™êüŒÃ™ü ÛúÖê Ûîú¯ÃÖ (All caps) Ûú¸ü®ÖÖ … 

  (iii) ‹Ûú ¿Ö²¤ü ÛúÖê ×¸ü¯»ÖêÃÖ Ûú¸ü®ÖÖ … 

  (iv) ‹Ûú ®Ö‡Ô ±úÖ‡»Ö ²Ö®ÖÖ®ÖÖ … 

 (b) “Screen saver is a program that starts a animation after a period of inactivity.” 

  ˆ¯Ö¸üÖêŒŸÖ ¾ÖÖŒµÖ ´Öë ¤üÖê ¿Ö²¤ü ®ÖÆüà ×»ÖÜÖê ÝÖ‹ Æïü ×•Ö®Æëü †Ó›ü¸ü»ÖÖ‡®Ö ×Ûú‹ ÝÖ‹ ¿Ö²¤üÖë Ûêú ¯ÖÆü»Öê ‡®ÃÖ™Ôü Ûú¸ü®ÖÖ         

Æîü … ‡®Ö ¿Ö²¤üÖë ÛúÖê ‡®ÃÖ™Ôü Ûú¸ü®Öê Ûêú Ã™êü¯ÃÖ ×»Ö×ÜÖ‹ … µÖê ¿Ö²¤ü ®Öß“Öê ×¤ü‹ ÝÖ‹ Æïü : 

  (i) program ¿Ö²¤ü ÃÖê ¯ÖÆü»Öê utility 

  (ii) animation ¿Ö²¤ü ÃÖê ¯ÖÆü»Öê predefined 
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8. Answer the following : 2 ×××× 2 = 4 

 (a) Write the steps to plot a column chart for the data given in the table below 

which shows the distance of five cities from Chandigarh :   

Name of the City Distance in km 

Ambala 170 

Delhi 280 

Jalandhar 150 

Jaipur 580 

Lucknow 680 

   

(b)  A B C D E 

 1 Post Basic DA HRA Net Pay 

 2 Clerk 3500 2000 1000  

 3 Manager 8000 4000 2000  

 4 AGM 10000 5000 4000  

 5 DGM 12000 6000 5000  

 6 GM 20000 8000 8000  

  Based on the above data write the formula to calculate the following : 

  (i) Net pay of GM by using the formula as Net Pay = (Basic + DA + HRA) 

  (ii) Net pay of clerk using the above formula 

  (iii) Average Net pay of AGM & DGM 

  (iv) Net pay of a manager  

 ×®Ö´®Ö ÛúÖ ˆ¢Ö¸ü ×»Ö×ÜÖ‹ : 

 (a) ×®Ö´®Ö ™êü²Ö»Ö ´Öë “ÖÓ›üßÝÖœÌü ¿ÖÆü¸ü ÃÖê ¯ÖÖÑ“Ö ¿ÖÆü¸üÖë Ûúß ¤æü¸üß ×Ûú»ÖÖê´Öß™ü̧ ü ´Öë ¤üß ÝÖ‡Ô Æîü … ‡ÃÖ ›üÖ™üÖ Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü 

‹Ûú ÛúÖò»Ö´Ö “ÖÖ™Ôü ¯»ÖÖò™ü Ûú¸ü®Öê Ûêú Ã™êü¯ÃÖ ×»Ö×ÜÖ‹  :   

¿ ÖÆü ¸ü  Û úÖ ® ÖÖ´ Ö ¤æ ü ¸ü ß km ´ Öë 

†´²ÖÖ»ÖÖ 170 

×¤ü»»Öß 280 

•ÖÖ»ÖÓ¬Ö¸ü 150 

•ÖµÖ¯Öã¸ü 580 

»ÖÜÖ®Ö‰ú 680 
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(b)  A B C D E 

 1 ¯Ö¤ü ²Öê×ÃÖÛú DA HRA ®Öê™ü ¯Öê 

 2 Œ»ÖÛÔú 3500 2000 1000  

 3 ´Öî®Öê•Ö¸ü 8000 4000 2000  

 4 AGM 10000 5000 4000  

 5 DGM 12000 6000 5000  

 6 GM 20000 8000 8000  

  ˆ¯Ö¸üÖêŒŸÖ ›üÖ™üÖ Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü ×®Ö´®Ö Ûîú»ÖÛãú»Öê™ü Ûú¸ü®Öê Ûêú ×»Ö‹ ±úÖò´ÖæÔ»ÖÖ ×»Ö×ÜÖ‹ : 

  (i) GM Ûúß ®Öê™ü ¯Öê ×•ÖÃÖ´Öë ×®Ö´®Ö ±úÖò́ ÖæÔ»ÖÖ ÛúÖ ˆ¯ÖµÖÖêÝÖ Ûú ȩ̈ü : 

   (®Öê™ü ¯Öê = ²Öê×ÃÖÛú + DA + HRA) 

  (ii) Œ»ÖÛÔú Ûúß ®Öê™ü ¯Öê (ˆ¯Ö¸üÖêŒŸÖ ±úÖò´ÖæÔ»ÖÖ ¯ÖÏµÖÖêÝÖ Ûú ȩ̈ü) 

  (iii) AGM †Öî¸ü DGM Ûúß †ÖîÃÖŸÖ (Average) ®Öê™ü ¯Öê 

  (iv) ´Öî®Öê•Ö¸ü Ûúß ®Öê™ü ¯Öê   

____________ 
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